MA 104 LSN 9 Application Problems
Instantaneous Velocity:


A car is travelling at 100 ft/s (is that fast?) when the driver suddenly hits the brakes (x=0, t=0).  The position of the car is given by 
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, where x is measured in feet and t is measured in seconds.  How far and how long before the car comes to a complete stop?
MA 205 LSN 9:  Application Problems
Marginal Cost:

Suppose the cost of producing x yards of fabric is given by
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measured in dollars.  The rate of change of this function is called marginal cost.  Since
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marginal cost is often used to approximate the cost of producing one more item, i.e.,
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(Why is this a valid approximation?)  Estimate the cost to produce the 101st yard of fabric.  What is the actual cost of producing this particular yard of fabric?
MA 205 LSN 9:  Application Problems
Market Saturation:

Using past records, an advertising company estimates that a manufacturer will sell N items after spending x thousand dollars on advertising, where
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(Why is this a reasonable choice for the domain?)  If the manufactured items yield a profit of $500 each, at what point will the company’s advertising reach market saturation, i.e., what is the most money they should be willing to spend in order to avoid spending more on advertising than they will make up for in sales?  
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